
 





Robinson Annulation Part 1 - Michael Reaction Steps
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Robinson Annulation Part 2 - Aldol and Dehydration Steps
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New CFC bond
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Aceto ester Synthesis Summary
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We start with diethyl malonate
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2 Acid chlorides B di ketones
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Carboxylic acids

Ketones
Carboxylic esters

Aldehydes

β-Keto esters

β-Hydroxy aldehydes

α,β-Unsaturated aldehydes
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Products

Addition of H-X to an Alkene
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Products

H-X reacting with conjugated dienes
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Low temperature Molecules have

enough energy toKinetic
Control get over activation

energy A but not
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High temperature Molecules have

enough energy to
Thermodynamic
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Electrons should be thought of as

waves

Orbitals are described by wave

equations
Like waves orbitals can add

constructively and destructively

When adding atomic orbitals you

get as
many

new molecular
orbitals as there are

component atomic orbitals

Half of these are bonding
molecular orbitals

Half of these are antibonding
molecular orbitals

For molecules with adjacent
2p orbitals that overlap the

resulting molecular orbitals
extend over all the atoms
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bonding orbitals
look like hot dog If you
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Consequence of the N way
molecular orbital The bond between

the middle two carbon atoms
is not a normal sigma bond

Partial N bond
Does NOT rotate freely
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steric strain




































































































































In way






































































































































As you add 2p orbitals
the

energy gap between
the highest filledmolecular orbital
and the lowest unfilled
N molecular orbitals

gets smaller leads
to longer wavelengthof light photon ofthe correct energyto be absorbed







































































































































